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Constable GD in Central Armed Police Forces CAPFs SSF Rifleman GD in Assam
Rifles Examination 2024

[Exam Date 21/02/2024
Exam Time 11:30 AM - 12:30 PM
Subject Constable GD Examination 2024

Section : Part-A-General Intelligence and Reasoning
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Section : Part-B-General Knowledge and General awareness
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@ ot U SO Sl 14 cm 2R TR AR U gy e fhdt efie?
Ans X1 512 em?
v 2. 784 cm?
X 3. 856 cm?
X 4 624 cm?
| @1 Luorove the uaderlined oact of the sentence. Choose “No IaBrovemOnt 25 a0 answer if the sentence is srammaticallv |

Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if the sentence is grammatically
correct.

The cakes was for her birthday.

Ans X' 1. cake are for
" 2. cake is for

X 3. No improvement

X 4. cakes is for

Q2 Choose the word that is opposite in meaning to the given word.

Advantages
Ans X 1. Adjourns
X 2. Refuges

" 3. Minuses
X 4. Boons

Q3 Select the incorrectly spelt word from the given sentence.

Retail outlets are closing down, so the customers are left with no other choise but to make online purchase.
Ans X 1. purchase

& 2. customers

< 3. Retail
« 4 choise
Q4 Select the most appropriate option for the given blank.
The team children on proper safety procedures.
Ans

X 1. education
« 2. educated
# 3. educate

X 4. educating




Q.5

Select the sentence with no spelling errors.

Ans 1. When placed on the column, each ring slid down to its correct position, if possible.
X 2. When placed on the column, each ring slid down to its correct position, if posible.
# 3. When placed on the column, each ring slid down to its corect position, if possible.
X 4. When placed on the colum, each ring slid down to its correct position, if possible.
Q.6 Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if the sentence is grammatically
correct.
I want to loose weight, yet I eat chocolate daily.
Ans X 1. No improvement
X 2. lose weighted
« 3. lose weight
X 4. lost weights
Q7 Choose the most appropriate antonym of the underlined word.
For twenty vears you hold an innocent and virtuous woman under an infamous suspicion.
Ans X 1. Moral
+ 2. Unethical
< 3. Blameless
X 4. Righteous
Q8 Select the most appropriate option for the given blank.
I don’t know why he suicide despite being born into such a wonderful family.
Ans X 1. obligated
+ 2. committed
X 3. pledged
< 4. executed
Q.9 select the incorrectly spelt word from the given sentence.
And with modern technology, it would be possible to distribute lesure justly without injury to civilization.
Ans

X 1. Possible
X 2. Technology

X< 3. Distribute
« 4. Lesure




Q.10

Ans

Choose the idiom/phrase that can substitute the highlighted group of words meaningfully.

I feel they are watching me too closely and making me feel uncomfortable in the new college.
+ 1. Breathing down one’s neck

X 2. In the dark
X 3. Breaka leg

# 4. Run out of steam

Q.11

Ans

Select the most appropriate meaning of the given idiom.

Shot in the arm.

X 1. To take a chance.

+ 2. Something that lifts your spirit.
X 3. To hit someone.

X 4. To reveal what you really think.

Q.12

Ans

Identify the segment that contains a grammatical error. If there is no error, select No error'.

You could see / they were being careful as hell / not to drink up the minimum fastest.

# 1. You could see

« 2. not to drink up the minimum fastest.
X 3. they were being careful as hell

X 4. No error

Q.13

Ans

Find the part of the given sentence that has an error in it. If there is no error, choose *No error’.

Each and every one of them want to discuss the post production amount.

+ 1. them want to discuss
X 2. Each and every one of
# 3. No error

X 4. the post production amount.

Q.14

Ans

Improve the underlined part of the sentence. Choose ‘No improvement” as an answer if the sentence is grammatically

correct.
He had chop the onions on the cutting board.
X 1. chopping an
X 2. No improvement
« 3. chopped the
X 4. chop the




Q15 1dentify the segment that contains a grammatical error. If there is no error, select No error'.

In the afternoon we walk in the Parks; / and I wondered who shod all the horses there, / and wished Joe did.
Ans X 1. and wished Joe did.
+ 2. In the afternoon we walk in the Parks;
< 3. No error

X 4. and I wondered who shod all the horses there,

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Several lines of geological evidence (1) that an asteroid that was as much as 10 kilometers (6 miles) in diameter
hit the Earth at the end of the Cretaceous (2) . This evidence includes an ancient impact crater in the Yucatan
Peninsula of Mexico that dates (3) the time of the extinction. The impact would have produced an enormous dust
cloud that would have (4) info the atmosphere and (5) the planet.

SubQuestion No : 16

Q16 Select the most appropriate option for blank(1)
Ans & 1. indicate
X 2. sign

X 3. prevaricate

X 4. intimate

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Several lines of geological evidence (1) that an asteroid that was as much as 10 kilometers (6 miles) in diameter
hit the Earth at the end of the Cretaceous (2) . This evidence includes an ancient impact crater in the Yucatan
Peninsula of Mexico that dates (3) the time of the extinction. The impact would have produced an enormous dust
cloud that would have (4) into the atmosphere and (5) the planet.

SubQuestion No : 17

Q17 Select the most appropriate option for blank(2)

Ans X 1. spell
« 2. period
X 3. span
X 4. space




Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Several lines of geological evidence (1) that an asteroid that was as much as 10 kilometers (6 miles) in diameter

hit the Earth at the end of the Cretaceous (2) . This evidence includes an ancient impact crater in the Yucatan

Peninsula of Mexico that dates (3) the time of the extinction. The impact would have produced an enormous dust
cloud that would have (4) into the atmosphere and (5) the planet.

SubQuestion No : 18

Q18 Select the most appropriate option for blank(3)

Ans 1 to
X2 in
X3 of
X 4 for

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.
Several lines of geological evidence (1) that an asteroid that was as much as 10 kilometers (6 miles) in diameter

hit the Earth at the end of the Cretaceous (2) . This evidence includes an ancient impact crater in the Yucatan

Peninsula of Mexico that dates (3) the time of the extinction. The impact would have produced an enormous dust

cloud that would have (4) into the atmosphere and (5) the planet.
SubQuestion No : 19
Q19 Select the most appropriate option for blank(4)
Ans

A 1. raise in
X 2. rise in
« 3. risenup

X 4. raised up

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Several lines of geological evidence (1) that an asteroid that was as much as 10 kilometers (6 miles) in diameter

hit the Earth at the end of the Cretaceous (2) . This evidence includes an ancient impact crater in the Yucatan

Peninsula of Mexico that dates (3) the time of the extinction. The impact would have produced an enormous dust
cloud that would have (4) into the atmosphere and (5) the planet.

SubQuestion No : 20
Q20 gelect the most appropriate option for blank(5)
Ans X 1. fenced

X 2. captured
X 3. walled

" 4. encircled

Section : Part-D-Hindi
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FrafeRad uy #, IGU U 9R fdedl # 9, 39 fddhed &1 98+ & 5l (U 1T HeTar & o & G998 ¥ 9 Had
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X 3. 3fdbel e GRI DIy 981 DHIH DAl
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frrafafea aeg 7, 38 aeary & 9ganfae e Amet @ defoa syfear g afE 15 o 78 7
o e g 7E T g fie
e T T 3t Tog & T/ F 95T FT TATT Hr gl F T off FE X TFar B

X Hg gAY

v2 o st 19 = THar &

X 3. T ggeA Y HHATS I Agar

x4 ffea cafFT @ AR 9T A7 B

Q.3
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frafof@e s &, fow 717w Reredt & &, 37 fwes &1 797 i 3 fow 717 gy & o #r
IS T U Ted LT 2

Hleh SAHTAT
« 1 HJHTE SHATAT

X2 fe@rar &
X3 e e
X 4. ST g

Q.4

Ans

3T Y [se o faeH 2eq J1d BT
PRI

X1 W

x 2. m‘—(}[

3 3 h

X4 Tdh




Q.5

Ans

fafafad vy o, IR fOsel # 9, 39 fdhed &1 999 &3 ol S8 H 3T 1T Wse & uaigard! ¥sg &I gl
%ﬂ%ﬁﬂﬂm}_mw 39 [&e DI &9 el UgaHI dlfey|
X 1. Holldh

2. I

X 3. gRgN

X 4 Rgew

Q.6

Ans

m=fef@a a=r 7 Wifea arr F v & ads aeg 79 fifEw)
Saol SIS 2T I YUl Fid ¢

X 1. HEFUTT

X 2. sy

v 5 THER

)

Q.7

Ans

Fafed Uy § IR [APedl 7§ U, 39 [d%ed &1 994 & o Nad ™M & [0 I8t WifefT &4 arar fdeed gl
JTH IR aR AR W@ &

X1 BUR
X2 Dgl
X3t

o 4 E‘@

Q.8

Ans

=T 997 &, 91 Rl #§ ¥, 38 Ta' [9FeT F 900 7 AT a9 F o7 T g & d&eT

el
fFdr T 1 B = arer

X 1. qoTATe
X2 gade
X 3 OreT
v ¢ gfeardr

Q.9

Ans

T 91T I F @feg oeg F d=9 e AT HIT=T|
Tg ITT FC & oIE@F g

=

1 =T
X2 =T
X 3 BT
X4 FAY




Q.10

Ans

faU 71U WIsg &1 TaTTard! J1d Hifod |

faw]
X1'W|Wﬂ
v 2 @eHmd
X3.Eb—g‘f
X4.5ﬂ:[

Q.11
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v 1. Frif

X 2 qﬁ@j‘a

X3 R

x o 99Y

Q.12

Ans

f&u U fadmedl o ¥ Y aa-t arel faded &1 999 H1|
X1 IR IAH HH I ¢F TR g

X2 399 of Ryfd i =gt 4l

v 5 GHME g a1 Hifd 31 2|

X 4. Ugl B HIGIA <31 -Tel o

Q.13

Ans

feT 71T ST 7 [@ifed Ueg FT TcGH U AT HIaT|
Ust X g oS &

« 1. dlell

X2 o

x3-EI'iET
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Q.14

Ans

f3U U 91 o Wdifchd e o1 fdad s 1 HIOT|
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o 1. 3T

X2 &g

X3 GBS

X4 Tt
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